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PHILOSOPHY
[ Honours ]
PAPER - VII
Full Marks : 90
Time : 4 hours

The figures in the right hand margin indicate marks

Candidates are required to give their answers in their
own words as far as practicable

lllustrate the answers wherever necessary

GROUP - A
[ Long-answer type questions }
Answer any two of the following : 15 x2
1. (a) What is meant by '"Word' ? Discuss after
Hospers. : 5

{ Turn Over)



(2)

(5) Explain the rule of common usage and its
exceptions. . 8

(¢) Explain the specific sense in which the word
'meaning’ is used in the following sentences. 2

(/) AmeansB.

(ii) Do you feel that your life has meaning ?

2. (a) What do you mean by vagueness ? 5

(b) "Vagueness always is not an unfortunate
feature of language'-comment on this
statement. 6

(c) What is meant by the quorum feature of
language ? 4

3. (a) IMscuss the principle of verifiability. 3

(b) What are the limitations of it ? Critically
explain with example. 12

4. (aj Discuss correspondence theory of truth. 10

(b} Do you consider it as a sufficient one. 5
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8. (@) What is determinism ? 3
) How can determinism be compatible with
human freedom ? : 12
-6. Give a short account of the nature and types of
metaphysical problems. 15
GROUP - B
[ Semi-long answer type questions }
Answer any five questions : 8x5
7. Define category mistake and Imaginability asa
criteria of sentence meaning. 4+4
8. Distinguish between type-token ambiguity and
process-product ambiguity. 8
9. Whatis Ostensive' definition ? Do you consider
it as the most fundamental one ? Explain. . - .8
10. What is the meaning of 'Law of Nature' ? 8
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11. Explain with example the defects of Referential
theory of meaning, 8

12. 'The Word 'purpose’ is somewhat tricky.'
Comment on this statement with example. = 8

13. Explain the central idea of phenomenalism. 8

14. What is the problem of substance ? Discuss

after Hospers. , g
15. Is there any statement which is informative and

apriori ? Explain. : 8
16. (¢) What is definition by denotation? 2

(b) What are the dificulties of such definition? 6

GROUP-C .
[ Short answer typé questions ]

Answer any five of the following : 4x5

17. Distinguish between natural sign and conventional
sign. 4
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18. Are the following logically possible ? Give your
reason : ' 2+2

(a) To go back to the past.
(b) For a catto give birth to pups.

19. Distinguish between descriptive and prescriptive
law. _ .4

20. State the major thesis of pragmatic theory
~ oftruth. 7 4

- 21. State, for each of the following statements,
whether it is a-priori or a-posteriori:1 +1+1+1

(a) Water at sea-level pressure boils at 212°F
_ | (b) Each squére has four sides
(c) Every animal is sure to die some day

(d) All auntsare female.

22. Which of the following propositions wouid you
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consider to be the laws of nature ? Give your
reason. 242

(a) All oceans contain water.
(b) Iron rusts when exposed to oxygen.
23. Explain whether the following statements are

meaningless and if so, state the criteria which
are violated in each case : 1+1+1+1

(a) 12 is blue
(b) Saturday is sleeping
(¢) Square is round
(d) This planet lies above the universe.
24. Explain the meaning of the word 'true’ in the
following sentences : 1+1+1+1
(a) ItA is a true emerald.
(b) Do you know the true meaning of love ?
(¢) The true is that hurts.

(d) It may be true for you but not for me.
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28. Distinguish between a priori and a-posteriori
sentence. 4

26. Distinguish between explaining and giving
reasons. 4
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